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GENERAL INSTRUCTIONS TO THE EXAMINEES : 

(1)

Candidate must write first his / her Roll No. on the question paper compulsorily.
  (2)

All the questions are compulsory.
  (3)

Write the answer to each question in the given answer-book only.
  (4)

For questions having more than one part, the answers to those parts are to be written 
together in continuity.

(5)

If there is any error / difference / contradiction in Hindi & English versions of the 
question paper, the question of Hindi version should be treated valid. 
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 (6)     

    1 – 8 1 

    9 – 14 2   

    15 – 24 3 

   25 – 30 5

Part  Question Nos. Marks Per Question 

  A  1 – 8 1 

  B  9 – 14 2  

  C  15 – 24 3 

  D  25 – 30 5 

  (7) 28 30

There are internal choices in Q. No. 28 to 30. 

–

PART – A

 

1.           

Name the alloy made of copper and zinc.  1 

 

2.      

Write modern periodic law.    1 

 

3.        

Write two harmful effects of drinking alcohol.  1 
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4.       

Write two properties of metals.   1 

  

5.         ?

What do you mean by a bisexual flower ?  1 

 

6.  ‘   ’    

Define dispersion of white light.   1 

 

7.             

Write relation between focal length and power of a lens.  1 

 

8.           P  Q       ?

 

In two conductors of same metal P and Q shown in figure which has more resistance ?  1 
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–

PART – B 

 

9.              -    

Write formulae of bleaching powder and Plaster of Paris and also give one use of each. 1 + 1 

 

10.    - ()         

Write any four names of non -conventional (alternative) sources of energy and explain 

their importance.    ½  4 = 2 

 

11.         

Explain the analogous organ with the help of an example. 1 + 1 = 2 

 

12.                      

    ?

Write any two contrasting characters of pea plant used in Mendel’s experiment. What do 

you mean by dominant and recessive character ? 1 + 1 = 2 
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13.  ()   -            

 () P    , V             I     

    

(a) Write name of spherical mirror used as rear-view mirror in vehicles. 1 + 1 = 2 

 (b) A bulb of power P watt is connected to a generator of V volt. If current flowing in 

the bulb is I ampere, then write relation between these quantities.  

 

14.              

Write any two characteristics of magnetic field lines due to a bar magnet. 2  1 = 2 

–

PART – C 

 

15. ()       

 ()           

 ()      ?

(a) Write two properties of acids. 

 (b) Define strong acid and weak acid. 

 (c) What is water of crystallization ?   1 + 1 + 1 = 3 
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16.  ()         

 ()      -   

(a) Name two allotropes of carbon. 

 (b) Write two properties of metals and non-metals each. 1 + 2 = 3 

 

17.  ()     ? 

 ()   -    ? 

 ()      

(a) What are isotopes ?  

 (b) What is metalloid or semi-metal ?  

 (c) Name two metalloids.   1 + 1 + 1 = 3 

 

18.  ()                 

 ()          

(a) Explain the role of saliva and bile juice in process of food digestion in human 

beings. 

 (b) Write any one precaution for safe driving.  2 + 1 = 3 
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19.  ()                   

 ()               

(a) Give the name of any one plant growth inhibiting hormone and write about its effect 

on plants.    2 

 (b) Write any one name of cell division promoting hormone in plants.   1 

 

20.         ,      

Draw a labelled diagram of plant showing geotropism and explain the process of 

geotropism.    1 + 2 = 3 

 

21.           -         

  

Write any two changes occurring in boys and girls during adolescence period. Also 

explain the cause of these changes.     1 + 1 + 1 = 3 

 

22.    -              

Name two common defects of vision and type of lenses used to correct them.  1 + 1 + ½ + ½ = 3 
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23.       

 R1, R2  R3    ( )             

       

Write Ohm’s law. 

 R1, R2 and R3 resistors are joined in parallel combination. Draw a circuit diagram and 

derive the formula for equivalent resistance of this combination.   1 + ½ + 1½ = 3 

 

24.  ()            

 () 1    (1 kWh)        

 ()  (I),  (Q)    (t)    

(a) Write a formula for heat produced in Joule’s law of heating.  

 (b) Write value of 1 kilowatt hour (1 kWh) in joule. 

 (c) Write a relation between current (I), charge (Q) and time (t). 1 + 1 + 1 = 3 

 

PART – D 
 

25. ()  : 

  (i)  : -     

  (ii)      ?     

 ()        

 ()      ?        

(a) Explain :  

  (i) Carbon generally forms co-valent bonds. 

  (ii) What is hetero atom ? Give one example.   

 (b) Write difference between soaps and detergents. 

 (c) What are saturated hydrocarbons ? Also give two examples of saturated 

hydrocarbons.    2 + 1½ + 1½ = 5 
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26.  ()         ? 

 ()             

 ()           ‘ ’     

(a) What do you understand by a consumer in an ecosystem ?  1 

 (b) Explain the food chain in forest ecosystem with the help of diagram.  2 

 (c) Explain the term ‘Reduce’ used for conservation of environment giving any one 

example.    2 

 

27.  ()    ( )     I   II    :   

 I  II 

1.  A.      

2.  B.     

3.  C.    

 ()             

(a) Match the Column I with Column II for the Fleming’s left hand rule :   

 Column I Column II 

1. forefinger A. direction of force on conductor 

2. middle finger B. direction of magnetic field 

3. thumb C. direction of current 

 (b) Write two uses of an electric fuse used in domestic circuit.  3  1 + 2  1 = 5 
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28.                   -     

        : 

 (i)         ? 

 (ii)        ? 

 (iii)       

 (iv)         

                                     

    : 

 (i)  

 (ii)  

 (iii)  

 (iv)  

 Iron nail is immersed in blue solution of Copper Sulphate. Colour of the solution changes 

slowly. On this basis answer the following questions : 

 (i) What is the change in colour of solution ?   

 (ii) What is the reason of colour change ?  

 (iii) Write the equation of this reaction. 

 (iv) Name the type of this reaction.    1 + 1 + 2 + 1 = 5  

  OR 

 Explain the following : 

  (i) Oxidation 

 (ii) Reduction 

 (iii) Corrosion 

 (iv) Rancidity   1 + 1 + 1½ + 1½ = 5 
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29.  ()         

 ()          ?   

    

 ()        

 ()        

 ()         

(a) Draw a labelled diagram of human digestive system. 2 

 (b) How is the digested food absorbed in human beings ? Explain. 3 

  OR 

 (a) Write any one function of blood.  1 

 (b) Draw a labelled diagram of a human heart. 2 

 (c) Explain the double circulation of blood in human beings. 2 

 

30.                    

    

           

 
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         

                     

        

              

State Snell’s law of refraction. Explain refraction of light through a rectangular 

glass slab using a ray diagram. 

  Write value of speed of light in vacuum. 1 + 1 + 2 + 1 = 5 

OR 

  Write laws of reflection of light.  

  Draw a ray diagram for the image formation when an object is placed at the centre 

of curvature of a concave mirror. Write relative size and nature of image formed.  

  Write relation between focal length and radius of curvature of a spherical        

mirror.   1 + 1 + 2 + 1 = 5 

____________ 


